H £ 0l & AF & S
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SN EABI Y
33 229z Jls &zt
&l BAAST MHIA JIBRS (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SAMI 3,407,620 3,853,570 A445,950
= 151,799
[ 26,190
Jl 313,554
== 226,430
Al 2,676,431
= 13,216
2298 Jls st 2,356,036 2,884,707 A\528,671
= 151,799
[ 26,190
Jl 291,004
< 82,608
Al 1,804,435
SAHASAHHIA DlgtR= 473,655 488,056 14,401
= 3,000
s 750
Al 469,905
SHEASAHIA A 4,090 5,310 1,220
405 KHaHE SH 4,090 5,310 1,220
01 Tt ESF=HI 4,090 5,310 A1,220
OWV(ALHIE AR = &) 1,150,000 *1CH 1,180
OTV(HHEAXIA) ()
1,150,000 *1CH 1,150
OEES(AMRZATZ )
1,090,000 *1CH 1,090
OZgH(NFEEAXIA)(H)
700,000 1CH 700
SAo2AIE & 4| |Xl2 52,300 52,273 27
201 er23 | 12,300 12,273 27
2 35234l 12,300 12,273 27
O2gdtl & Ald RXAl2el
500,000 * 12 6,000
OE2AXA Rady ) B3
200,000 *9IH A 1,800
O] |Xl2el
100,000 Q4 A 900
OZA & SS)(2clad | FAl2c
3,600,000 %14 3,600
401 Al HIZ S OHbI 40,000 40,000
01 AlZ2H| 40,000 40,000
OE2A2ZAlE RAl2e
40,000,000& *14] 40,000
SAA 2SN 394,045 412,633 18,588
101 @124H| 110,663 116,379 Ab,716
M ORIMZZ2NSE S 110,663 116,379 N5, 716




SN EABI Y
33 229z Jls &zt
Chel: EHZ MHIA JIg= (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHILRA(2ALHY) 34,137
>llE2s 2,305,2703x1&~12& 27,664
>AXtg 11,0302 «8AI 2tx1 11 971
>=EH=SRYS 28,633,880 *4. 5% 1,289
PALEE S 28,633,880 *3.545% 1,016
PEINQYEEE 1,015,0802%12.81% 131
PUEEEE 28,633,8802 *1.75% 502
>ATHEE = 28,633,880 *0. %% 258
>ElX= 2,305,270 x1H 2,306
OB AR (BAXL, HEL BHHYI) 76,526
>ll2s 11,4202 #32A1 2H+ 178123 74,550
[PE=tet=: N3 74,550,000 *1.75% 1,305
DAHESEE 74,550,000 +0. %% 671
201 el 162,782 167,334 N4,552
01 At22t2lt] 48,254 38,226 10,028
O2gHIIZ +=H ==&
14,112,000 x 14 14,112
OrIIetd e H (AKX A, ALMEX|R
HIE) 776,000 x 122 9,312
ONEcZ SdR=
20,0003 =20 =122 480
OAMRES & 223
200,0003 * 1704 A 3,400
OFAN H M2F=E
20,0003 *17JH 2=+ 123 4,080
OXFGEHZ MR HAx=H
70,0002 7 H 23] 980
O3 HE dofde HH+g
70,0002 x4 +13] 280
Odes & AAdS 88,0002 x58H 5,104
O&=)| gtz 710,000& * 122 8,520
O3JIE8I| itz 165,500« 12& 1,986
2 352484l 114,528 129,108 14,580
O&fotE, 2A0latE A8
345,000 * 122 4,140
OMINZ(EAXA, BATZA)
380,000 170 A+ 128 77,520
OReYs AS2(EHIL, EHEZA)
15,0003 x17J4 2% 123 3,060
OSHRB(BEAX A, BEHIED)
25,0002 x170H A% 123 5,100
o"ds s&7
1,680 +BA| 2Ex72 + 10 2 968

4,000 xBAl 2hx72 L #50H A 11,520




SA: BAYT
33 229z Jls &zt
&l BAAST MHIA JIBRS (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ol € HIZ |Al&el
1,770,0002 14| 1,770
OOAZHIIZS HHEII ADE
1,000,000 *14] 1,000
Oz 28 ME(2AXA, BATZ L)
350,000& * 177K 2 5,950
O&stx 34 1,000,000 *14] 1,000
(OFSPRRIFSES == 1,500,000 14| 1,500
O&UWSIIE BMZ 1,000,000 *14] 1,000
202 04| 113,600 121,920 8,320
01 =LHOLI 93,600 118,920 N25,320
OFAdy gRF204Y|
900,000& 122 10,800
ORI A g2
2,220,000 123 26,640
OEAHAZA HRFA0H|
1,960,000~ 128 23,520
OS82 HRFA0H|
2,720,000&12& 32,640
03 =0 5,000 3,000 2,000
OFAHa A28 o204
5,000,000& *14] 5,000
04 =Xl=to1b] 15,000 0 15,000
OgFsggd =2ax
15,000,000 * 14! 15,000
203 g4l 7,000 7,000
03 A=A R =] 7,000 7,000
OAIB=NH R =AY 7,000,000 14! 7,000
PANSA AL ua2Y 18,720 17,840 880
201 et23| 18,720 17,840 880
01 AtR2telHl 18,720 17,840 880
O82= & 423 910,000 *8IH 4= 7,280
OdZud 23 SA=E
110,0003 x8IH =% 132] 11,440
sHEEAHA S 0lde= 4,500 0 4,500
= 3,000
s 750
Al 750
405 AtatE = 4,500 0 4,500
= 3,000
= 750
Al 750
01 ML ESFSHI 4,500 0 4,500
O2zEHI(HISFEATZA)
2,250,000 *14] 2,250




SN 2HAFH D
33 229z Jls &zt
&l BAAST MHIA JIBRS (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,500
=S 375
Al 375
O2AZEHI(AHEAT 2 4)
2,250,000 *14] 2,250
= 1,500
s 375
Al 375
= X 245,720 364,380 118,660
= 26,190
=S 17,995
Al 201,535
dz X 168,840 241,200 AT2,360
307 212+01& 168,840 241,200 AT2,360
0122 & 3= 168,840 241,200 AT2,360
OXSZAZHI(BAX A, BAIZA) 168,840
>E=oS 12,600,000& «12& 161,200
DY AE 350,000 12 4,200
DAMME (A, 3te)
1,120,000~ 128 13,440
AU A elAazze] 24,500 36,000 A11,500
< 4,900
Al 19,600
307 elztol & 24,500 33,680 29,180
= 4,900
Al 19,600
0192 & 3=H| 24,500 33,680 29,180
AN A LorAzze] X
24,500,000 * 14 24,500
= 4,900
Al 19,600
SIEFH X AN 52,380 87,180 A34,800
= 26,190
= 13,095
Al 13,095
201 ger= 3| 14,384 19,176 N4, 792
[ 7,192
= 3,5%
Al 3,5%6
01 AtR2telHl 14,384 4,925 9,459
OTAARE 3 & 222 MA(EAX A,
SATSA) 1,325,000& *14] 1,325
[ 662
= 331
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3,264

Mo

14,400
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812,106
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583,069

598,981

N15,912
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2,305,270 2+
11,0303 *BA| 2H+2H+8L
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33 229z Jls &zt
SE RN CERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 368,400 2,000 366,400
OZEs & 428 2,000,000 %14 2,000
oggiLs 29 330,000 x 121 A0 356,400
02 S3=gHl 8,576 8,774 A198
OGPS MEZ 33,000 »12CH+6E 2,376
O0IS& =t 22I| ALZR
50,0002 =2CH+ 12 1,200
Ogsdtl FA2=Hl
5,000,000& *14] 5,000
202 04| 2,400 2,400
01 2L A b 2,400 2,400
OER-EETIR-EESST
200,000 * 122 2,400
206 MH=H| 150,000 149,460 540
01 MHZH| 150,000 149,460 540
SHASHS 150,000,000 * 14| 150,000
307 elzto| & 6.000 375,000 A369,000
0192 & 3=H| 6,000 5,400 600
OJIME(RS) BAH 2,200&%2,500& 5,500
OzgE a8t JIE 500,000 *14] 500
405 AtatE = 10,000 12,000 /2,000
01 Tt 2SS F=HI 10,000 12,000 22,000
OHSIILIH RS2 A
1,000,000 *5CH 5,000
OdllE FolasJ| 1,000, 0002 *5CH 5,000
stdig 2te| 49,400 49,291 109
308 AXIHSO0IA 49,400 49,291 109
07 HAHH 2252 49,400 49,291 109
Ostdigae|Arg 23
49,400,000 *14] 49,400
S=s2=8 2E 15,000 15,000 0
201 =3 15,000 15,000
01 At2t2lt] 15,000 15,000
Os=s2se 24| 300, 000& %502 15,000
Hotetdiel MAHl X2 15,834 20,250 AN4,416
= 7,917
& 7,917
301 LEetE N = 16,834 20,250 N4,416
= 7,917
= 7,917
01 Al EE A S(FRDEEMA) 15,834 20,250 A4,416
OXfotetdiel Al X2
2,262,000&*7H 15,834
= 7,917




S AR
33 229z Jls &zt
SE RN CERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 7,917
SHAIOI IO AtA TIoH A X2 120,840 126,480 A5,640
= 120,840
301 EtE N = 120,840 126,480 25,640
= 120,840
01 AR 2EHSHS(RDNEXRTHE) 120,840 126,480 25,640
Ogtdleltlof At Lo A+ X1
190,000 «53 « 122 120,840
= 120,840
SIED| OHOH 28 olg2el 5,800 5,200 600
7l 2,900
Al 2,900
201 er23 | 5,800 5,200 600
Jl 2,900
Al 2,900
01 At2teltl 5,800 5,200 600
OASIINZEE HY 2=
5,800,000& 14 5,800
Jl 2,900
Al 2,900
DZLHO & 288 s 9 Het 22,163 246,744 N224,581
101 e124d| 17,095 210,584 193,489
M ORINZZ2NSE S 17,095 210,584 A193,489
OSHYPARA(D2LH9 dHAZ L) 17,095
>olE=s 2,386,780& *(20/40)x2H+62 14,321
D> AXt=g 11,4202 x4 A | 2028 x5 457
P l=Eac 50,0003 x2F+6E 600
>=EH=RY=S 15,377,480 *4 . 5% 692
PALEEZ 15,377,480 *3.545% 546
PAVQLEER 545,1302%12.81% 70
PUEEEE 15,377,4802 *1.75% 270
DAHESE = 15,377,480 0. %% 139
201 Ler23 | 1,468 36,160 A34,692
02 S5=24g4l 1,468 3,136 1,668
O0ISd=t 22| AIZR
50,000 x2CH+52 500
OHgrZA et
1,680 x4 A| 2H722d<2CH 968
202 04| 3,600 0 3,600
01 =LHOHI 3,600 0 3,600
OZZ2LH9 & 28E s SRFA0]
300,000 * 122 3,600
A2 606,579 569,115 37,464

H

20,042




SN EABI Y
Zu: 22A0E J|5 23
2l ZAR2Z (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 288,104
=S 55,946
Al 242,487
odg 2e 106,480 135,404 N\28,924
201 et 3| 6,000 5,800 200
01 At22t2l] 6,000 5,800 200
O+ A% HMel & I B28=
4,400,000 % 14! 4,400
O8E= & & 223
1,600,000 *14] 1,600
202 048l 480 2,400 21,920
01 2L AL 480 2,400 21,920
OZBA =804 40,0002 122 480
307 212+01& 100,000 127,204 N2T7,204
0122 & 3= 100,000 127,204 N27,204
OZBALAISF & J1 X
100,000,000 *14] 100,000
ool & o X2 121,790 12,136 109,654
Jl 60,895
& 27,500
Al 33,3%
307 elztol & 121,790 12,136 109,654
Jl 60,895
s 27,500
Al 33,39%
012z € =4 121,790 12,136 109,654
OHIV & AIDS & ZHl XIS
110,000,000 * 14| 110,000
Jl 55,000
=S 27,500
Al 27,500
OO0lloI = &IEtAISE 6,420,000 * 14 6.420
Jl 3,210
Al 3,210
Odd A 5,370,000& 14] 5,370
Il 2,685
Al 2,685
SlZ o2 ZehEtAt 22l XA 150,736 183,825 A\33,089
Jl 150,736
307 el2tol & 180,736 183,825 A33,089
Il 150,736
02 LB HANHEE 150,736 183,825 /33,089
OggJ|2t Zehati} 22 X3
150,736,000 * 14| 180,736




SN EABI Y
Zu: 22A0E J|5 23
Rl ZAR2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | 150,736
2Aa 28 2 152,946 199,578 N\46,632
Jl 76,473
= 8,422
Al 68,051
101 @1A4H| 31,000 0 31,000
Jl 15,500
Al 15,500
04 JIZtN2Z2 XS 2 31,000 0 31,000
OB AP (AL B2 |NMIRI) 31,000
>llEs 2,386,780« 1E+11& 26,255
Jl 13,128
Al 13,127
D> AXt=g 11,4202 +8A| 2H+1H %102 914
) 457
Al 457
>eErd 50,0002 x1&*112 550
Jl 275
Al 275
>AEERE 3,281,000& 14 3,281
Jl 1,640
Al 1,641
201 er2 3| 9,386 12,000 N2,614
Jl 4,693
= 938
Al 3,755
01 At2teltl 9,386 12,000 A2,614
OZsoY B2 Y ADE
9,000,000& %14 9,000
) 4,500
= 900
Al 3,600
OZHBT INSHEX 2T SAS+4+E
386,000 %14 386
Il 193
== 38
Al 155
202 048l 2,400 4,400 22,000
Jl 1,200
= 240
Al 960
01 =LHA LI 2,400 4,400 /2,000
OZ8 A5 X Al § BRFAOHI
2,400,000 %14 2,400




S AR
33 29z Jls &3t
Rl ZAR2 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 1,200
=S 240
Al 960
307 212+01& 72,446 146,382 AT73,936
7l 36,223
= 7,244
Al 28,979
012z € /=4 72,446 146,382 AT73,936
AP B K
708,000 *14] 708
Jl 354
= Il
Al 283
OZHASIEAL 23,008,000 * 14! 23,098
7l 11,549
= 2,310
Al 9,239
QRSB NSHEX FA
7,206,000 * 14 7,206
7l 3,603
= 720
Al 2,883
OZ% 1NREx S FSAHS 2 & 252
i 2e| 41,434,000 x14] 41,434
Jl 20,717
=S 4,143
Al 16,574
308 XtXIEMSO0IE 37,714 36,796 918
Jl 18,857
Al 18,857
18 SIS0t & A AS A 37,714 36,7% 918
OS24 S ZHBT 2K (LSOt
EXISA) 37,714,000& %14 37,714
Jl 18,857
Al 18,857
AXHA 28 Mt HA XA 40,084 0 40,084
= 20,042
= 4,008
Al 16,034
307 gl2to| & 40,084 0 40,084
= 20,042
= 4,008
Al 16,034
01 2g & 3=H| 40,084 0 40,084




SN EABI Y
Zu: 22A0E J|5 23
Rl ZAR2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXIXHH 23 &t A X2
40,084,000 *14] 40,084
= 20,042
[ 4,008
Al 16,034
Z0Y 2 EX 34,543 38,172 23,629
= 16,016
Al 18,527
201 er23y| 1,300 1,000 300
= 260
Al 1,040
01 AtR2te|H] 1,300 1,000 300
OzHHT S AASMBE BBS
1,300,000 *14] 1,300
< 260
Al 1,040
301 LEtE NS 480 480 0
== %
Al 384
14 JIEt 2 a3 480 480 0
CEM2AC|A FHF 2 =E
120,000 *43] 480
=S %
Al 384
307 212+01& 32,763 36,392 A3,629
< 15,660
Al 17,103
0192 & 3=H| 32,763 36,392 A3,629
OZHEN U H2LHST AT
1,000,000 %14 1,000
= 200
Al 800
OFSAHE &2, sEJI2e R8 0lsdz
8,993,000 * 14 8,993
[ 1,798
Al 7,19%
Osstd 2 )|2A ZaA
22,770,000& x14] 22,770
= 13,662
Al 9,108
ABHENHEEH =29 217,976 295,094 AT7,118
gl ABHEXNE 28 2 2 114,154 71,222 42,932
101 21AH| 6,754 8,822 2,068
M ORNZZ2NSE S 6,754 8,822 22,068




SN 2HAFH D
33 229z Jls 4@t
el ALYMETHE =29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSAAURA(AT U2 HEH &2 ) 6,754
>olEs 11,4202 4N 20+ 1H %144 6,578
PUEEES 6,577,920 *1.75% 116
DAHESE = 6,577,920 0. %% 60
201 er23 | 36,800 36,800 0
01 At2telt] 22,826 20,870 1,956
Odle 28 =3l 4,780,000 * 14 4,780
O/4II, HlEl, 2IIFFI S LN
300,000 x 122 3,600
Ons X2 L 222 5,690,00021%14] 5,690
OZ208 2% ALY
120,000& *8IH*52] 4,800
Obte HAE9 2,000,000 %14 2,000
Osd)| ctdae|ES 163,000& * 12 1,956
02 S3=gHl 13,974 15,930 A1,9%6
Oolr=Ees= 130,000« 128 1,560
OodIIR3 480,000 <123 5,760
OZAIARF 360,000& 122 4,320
OsZIl I1E A 134,000 12 134
OAlZ & &l |AlHI 2,200,000 *14] 2,200
202 04| 3,600 3,600
01 =LHOLI 3,600 3,600
OHAZALTL LEHOHH)
300,000& * 122 3,600
206 M=l 10,500 10,500
01 MZH| 10,500 10,500
Ooxzd 2% M=H
10,500,000 * 14 10,500
301 EetE NS 1,000 1,000
11 #AIAHIXIE S 1,000 1,000
OF2ASXY 2t 3
8,0003 x25H +53] 1,000
307 elztol & 10,500 10,500
0192 & 3=l 10,500 10,500
(@ IE=EAt— 21,0002 *500H 10,500
401 AlEHIZ S 0HYI 45,000 45,000
01 AlZH| 45,000 45,000
HRE ANAME 24 g
45,000,000 *14] 45,000
gl ABUEXN MY SA2L 29 & 2l 33,800 152,700 A 118,900
201 =3 15,500 16,000 A500
01 At22t2l] 14,500 15,000 A500
OdlE! 2 =34l 5,000,000& *14] 5,000




S AR
Zu: S22 Jls 23
el ALYMETHE =29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEESIESEERIEEE
250,000 * 122 3,000
OuU=sXE & 822 3,500,000 %14 3,500
OZ2IY 29 A+
120,0003 *5I1+53] 3,000
2 S5=24g4l 1,000 1,000 0
OAlE & &Hl || 1,000,000& *14] 1,000
206 M=l 8,000 8,000
01 MZH| 8,000 8,000
OZ2I¥ 2% Wl
8,000,000& 14 8,000
307 21201 & 6,300 6,300
012z € 2/=H] 6,300 6,300
ORIyt 21,000 »300H 6,300
405 AHAHE S 4,000 128,700 A124,700
01 TR =S F=H 4,000 128,700 A124,700
Oz=elIl AIAE 4,000,000 14 4,000
N AZUSX2dE 28 & 2l 70,022 7,172 AT1,180
101 @12A4H| 6,754 8,822 22,068
MU IIRINZZE2NSES 6,754 8,822 2,068
OSARA (AL XM SZEHI) 6,754
>llEs 11,4203 #4A| 2t 18 x 144 6,578
>UsSEE 6,577,9202 *1.75% 116
>ATHEE 6,577,920 0. %% 60
201 Let=23 | 38,528 38,210 318
01 At2teltl 20,424 18,360 2,064
Odle =g +=3Sdl 4,000,000 14| 4,000
O&==Jl, ditl, sJI18&8J! itz
300,000 * 122 3,600
OCusiz & 8= 4,000,000 * 14 4,000
OZE20Y 28 AM=H
120, 0002 +4 ) 123] 5,760
OHSEEI| 428
1,000,000 *14] 1,000
Osd)l et e | ES 172,000« 128 2,064
2 35244l 18,104 19,850 A1,746
Odotee= 130,000& « 12& 1,560
OdJIR3 1,200,000& 122 14,400
OsZJl EI1ZAHI 144,0002 %12 144
OAld & &Hl =Xl 2,000,000 *14] 2,000
202 04| 3,600 3,000 600
01 SLHoIH 3,600 3,000 600
OAMEF=AHZ XA BRS04
300,000& * 122 3,600




S AR
33 229z Jls 4@t
Rl AZ U HLEH 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 10,000 10,000
01 MHZH| 10,000 10,000
Omzly 29 Y=t
10,000,000& * 14 10,000
301 EetE2 N = 640 640
11 #AIAHIXIE S 640 640
OF2AaZS0tel 22
8,0002x20H *43] 640
307 elztol & 10,500 10,500
0122 & 3=l 10,500 10,500
(@R IE=EAE— 21,0002 »500H 10,500
o|efE 2l 509,404 361,451 157,953
Il 3,693
= 143,822
Al 361,889
SefE el 24,692 11,892 12,800
olef, Orefs 2l 12,192 11,892 300
201 er23| 5,192 3,7R 1,400
01 AtR2t2|HI 5,192 3,000 2,192
Obter & ojetate| 222 MA
1,800,000 *14] 1,800
OgfE 2LLENY 2= M&
2,000,000& *14] 2,000
Olt® & AELEE Y uWs IAxE
150,000 1 *43] 600
OZZINE Hatgt AIAH S22
66,0002« 122 792
202 04| 6,000 6,000
01 =LHO LI 6,000 6.000
o2 Zate| 20|
500,000& 122 6,000
301 EtE N = 1,000 1,000
4Bt 2 a3 1,000 1,000
O3k 24 243
1,000,000& %12 1,000
NBSAIEE NEE S AZAIE HEiZAL 12,500 0 12,500
401 AIEHIZ SR HYI 12,500 12,500
01 Al&HI 12,500 12,500
ON3BAld= NEE Rg AgAE dHx
At 12,500,000 * 14| 12,500
diAads & SESXX 12,890 8,070 4,820
Jl 3,693
Al 9,197
diads 2 SSHA 6,300 6,070 230
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